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til i=20;
@ vriteln(S1:10,P2:10);
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B2. EpgaviCovtot ou tipéc 3.4,5.2.

B3. Appm Q
AwPoace x Q

Av x>0 t0t€ y=X
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I'l. program theme3; x @
var
a,b,c,ma 4
f1 real):

function

2 &

max:=x;

x if (y>max) then max:=y;

if (z>max) then max:=z;
% f1:=max;
end;
readln(a,b,c);

while (a<>b) OR (b<>¢) OR (c<>a) do

2? begin
max:=fl(a,b,c);
writeln('O peyoivtepog eivar ', max);

readln(a,b,c); ’

T01€

end;
end.
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I'2. program theme3b;
var
a,b,c,max: real;

procedure pl(x,y,z: real; var max: real); Q

begin
max:=x; Q
if (y>max) then max:=y;
if (z>max) then max:=z; %
end; %7

readln(a,b,c);

while (a<>b) OR (b<>c) OR (c<a)
begin
pl(a,b,c,;max);
writeln('O peyoXvre gax);

begin

readln(a,b,c);

end;

end. @ ;i\_
O@EMA A Z@
program thema4; @
var % @

n,sum, httes,nikes @ b: 1mteg

edra: string;
begin
writeln(’H& 101 o‘ o1 NG ouadog ;');

@

readIn(n);

sum:=0y fodvoko Pabud
httes:=0; EVTOG € NtTeg}

nik % 1 EKTOG €0pOC VIKEG}
fo&%?co 2*n do

egin
% writeln('Tnmedovyog 1 prroEevovuevod');
readln(edra);

@ writeln('TIéca oeT kEPOIGE 0 YNIESOVYOQ));
readln(a);

writeln('TIéca oet kEPOIGE 0 PrhoEevovuevod');

i readln(b);
if (edra="ENTOY') then
begin
if (a>b) then

begin
if (a-b>1) then sum:=sum+3
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else sum:=sum+2;

end
else
begin

httes:=httes+1;
if (b-a=1) the

end
end
else ?
begin
if (a>b) then
begin
1 =]) then sum:=sum-+1
end
else

begin
nikes:<mikes+1;
1f ( en sum:=sum-+2

end; @
writeln(sum:5, httes:5,nikes:5); &

end.
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